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Note :

There are two sections in this paper. Section - A is
compulsory. Answer any three questions from
Section - B.

SECTION - A

1.  Following are the multiple choice questions. Each

question is having four choices, out of which only
one choice is correct. Find the correct choice.

(a)

(b)
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A group of 8 bits is called : 10x2=20
(i) Nibble
(i) Nyte
(iii) Byte
(iv) Bit
. Which of the following loses its contents
when the computer is turned off ?
(i) PROM
(iiy ROM
(i) RAM
(iv) CD-ROM
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(c)

(d)

(e)
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Which one is not a domain name ?

(i) .com @) .in

(ili) .org (iv) .exe

The sum of the first n positive integers is

given by formula :

2
i) Sp= (% n(n +1))

1
(i) Sn= RET (n2+ )
1
—n(n+1)
i =2
(i)  Sp )
1 2
(iv) Sp= _____(n—; )

Two parts of the CPU are :

(i)  Control Unit and Memory

(i) Addresses and Registers

(iii) Addresses and ALU

(iv) Control Unit and ALU

If an integer is divided by 3, then only
possible remainders should be

(i) Zero @i 1
(i) 2 (iv) All of the above
2



(8)

(h)

®

()
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The client application act as :

(i) Back End

(i) Front End

(i) Both (i) and (ii) -

(iv) None of the above

DSS stands for :

(i) Decision Support System
(ii) Decision Support Softwére
(i) Decision System Software
(iv) Direct Support System

The computing time of two different
algorithms for the same problem are O(n) and
O (logn) respectively, which one will be the
efficient algorithm with respect to time ?

@) O (logn)

(i) O (n)

(iii) Both (i) and (ii) are same
(iv) None of the above

The set of rules for sending and receiving
data on the network are called

(i) Programs
(i) Protocols
(iii) Functions

(iv) Standards
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2. Whatare Decision Trees ? What kind of problems
can be best solved using decision trees ? Assuming
one such problem, show its proof.

3. (a) Explain the various methods used for
connecting to the Internet.

(b) What are the advantages of an E-mail
Service ?
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4. (a)

(b)

5. (a)

(b)

(b)

7. (a)
(b)
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SECTION - B

What is Data dictionary ? Explain the
purpose of data dictionary through an
example.

n
Draw a flow chart to compute Y where
n!

0<n=10.

What is an object ? Explain the advantages
of object oriented languages.
Differentiate between FTP and TELNET.

Also, write the process of transferring files
through FTP.

What are bookmarks used for in a web
browser ? Write steps to create a bookmark
in a web browser.

What is Internet ? What is meant by ISP,
explain its role in Internet ?

What is the remainder left after dividing
14+21 431441 ... +100! by 7 ?

10

10

10

10

10

10

10

Write short notes on the following : 5x2=10

(i) DNS (if) Real time Processing
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(i) Decision Support System
(i) Decision Support Software
(iii) Decision System Software

(iv) Direct Support System
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9 P.T.O.



2. Trola o s €2 fola aosii =1 v &0 fva 96K
T} TEENST 1 Gad TS5 T 8§ Gl § 2 T @
T G 1 FTAT L 3HH T fe@gu |

3. (a) SeTieied & oy g fafie fafusl o frdem

FIT |
(b) AT F AT R?

CIC-01 10

10



(b)
5 (a)
(b)
6 (a)
(b)
7 (@)
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